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ALL SUBJECTS ANSWER KEY WITH FEEDBACK CLASS-5

CBT FEBRUARY 2024

ENGLISH

Svllabus covered - (I) Sing a song of people
(I1) Malu Bhalu

SECTION A-READING

(A) Read the following lines and answer the questions.
High up in an icy lair.
Lived a little polar bear.
Snow white, snow bright was her mane,

Malu Bhalu was her name. 4 v
“i" gl
Very soon our Malu Bhalu \ v .
Learnt the things her parents knew. p—— S N =
Fish to catch, big and small... / | ; " 'Y )
Malu was a clever girl. f — Yot
© 14

Now Tick (V) correct options :

Q.1 What was the name of the polar bear?
b) Puppy

b) Malu Bhalu

c) Bruno

d) Rocky
Ans: b) Malu Bhalu

Feedback - Malu Bhalu is a wild animal.




Q.2 Where did Malu live?

a) forest
b) river
c) anicy lair

d) stable / river / pond / forest

Ans: c) An icy lair

Feedback - Polar bear lives in icy land.
SECTION-B WRITING
Q3 Where can we see a crowd of people?

a) Jungle

b) Railway station
c) Mountain

d) Pond

Ans. b) Railway station

Feedback -Crowd of people seen at railway station.

Q.4 Who is the poet of the poem Sing a song of people?

a) Jonathan Swift
b) Enid Blyton
c) Lois Lenski
d) H.E. Wilkinson

Ans- c) Lois Lenski

Feedback - Lois Lenski is the poet of the poem. Sing a Song of People.

GRAMMAR

Q.5 Whom does 'she’ refer in the poem Malu Bhalu?

a) Malu

b) Deer

c) Fox

d) None of these
Ans. a) Malu

Feedback -’She’ refer to Malu in the poem.




Q6. Tick the correct rhyming word for ‘might’ is -

a) firm

b) daughter

c) right

d) None of the above

Ans. c) right

Feedback - Might and Right are same sounding words.
SPELLING

Q7. Encircle the correct spelling:

a) strength.

b) stranth

c) strangth

d) none of the above

Ans. a) strength

Feedback - Strength is correct spelled word.

Q8. Tick (v) the silent letters in the word 'Daughter’.

ajr

b) gh

c) er

d) none of the above
Ans. b) gh

Feedback - ‘gh’ has no sound in the word ‘ Daughter’

VOCABULARY

Q.9 Tick (v) the word, which means - bold -

a) fearless

b) clever

c) timid

d) none of the above

Ans a) fearless

Feedback -Meaning of bold is fearless or courageous,brave.




Q10. Pick the correct meaning of the word "subway"

a) ill tempered

b) smart

c) underground passage
d) none of the above

Ans c) underground passage

Feedback - ‘ Subway’ means Underground Passage or tunnel.
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MATHS

Svllabus covered - (i) Smart charts

KNOWLEDGE AND UNDERSTANDING

(ii) Ways to multiply and divide

Instructions for Question 1 and 2 :-

Have a look at bar graphs given below and answer the questions.

40°C

30°C

20°C

10°C

1 June

40°C

30°C

20°C

10°C

[1 December]




Q.1  Which city is the coolest on 1 June?

(a)Delhi

(b) Shimla
(c)Banglore

(d) Jaisalmer

Ans: (b) Shimla
Feedback: Shilma has the lowest temperature on 1 June = 22 °C
Q.2 Which city is the hottest on 1 December?

(a)Delhi

(b) Shimla
(c)Banglore

(d) Jaisalmer

Ans: (d) Jaisalmer

Feedback: Jaisalmer has the highest temperature on 1 December = 25 °C

Instructions for Question 3 and 4 :-

Vanshika's store is the best shop for buying camping items. She

made a Chapati chart for best selling items in a week-

=

Sleeping Lo
bag

A\

‘ Binoculars \
I |
[

1

</

Q.3 Which item is sold the most?

(a)Binoculars
(b) Torch
(c)Tent

(d) Bag

Ans: (b) Torch

Feedback: Part of the whole Chapati chart for Torch is largest.




Q.4 Which item is sold less than Tent?

(a)Sleeping bag
(b) Binoculars

(c)Bag
(d) Torch

Ans: (c) Bag

Feedback: Part of the whole Chapati chart for Bag is less than the Tent.

ABILITY TO COMPUTE

Q.5 Look at this smart Tally chart.
Tally Marks

One = ‘ Two = r Three = H Four = Five =

Day Tally Marks
Car ‘

Bus

Cycle

Walk

What is the difference between numbers of cars and cycles?

(a)6

(b) 8

()5

(d) 9
Ans: (b) 8

Feedback: Number of cars and cycles are 16 and 24 respectively. So
the difference is (24 - 16 = 8).




Q.6  Fill in the correct operations (4, —, Xand +)
735 __ 3=245

(a)+

(b) -
(c) X

(d) -
Ans: (d) +
Feedback: Cost of chocolates equalsto 735 +~ 3 = 245
PROBLEM SOLVING ABILITY

Q.7 There are 14 chocolates in a packet and each chocolate costs T 10.
What is the price of the packet of Chocolates?

(2)1400

(b) 140
(c)280

(d) 240

Ans: (b) 140
Feedback: Cost of chocolates equals to 74 X' 10 = X 140
Instructions for question 8 and 9:

Punnu bought two pieces of paper for his school project as shown
below.

9cm 6 cm

5 em 6 cm

Piece 1 Piece 2

Q.8 Area of piece 1 and piece 2 is

(a)45 sq. cm and 30 sq. cm
(b) 30 sg. cm and 45 sq. cm
(c)36 sg.cm and 45 sq. cm
(d) 45 sq. cm and 36 sq. cm




Ans: (d) 45 sq. cm and 36 sq. cm

Feedback: area of piece 1is 9 X5 = 45 sq.cm, area of piece 2 is
6 X6 =36sq.cm

Q.9 Ifeach sq.cm costs R 3, then what is the cost of piece 1 and piece 2 ?

()90 and 72R%

(b) 72% and 90X
(c)135%and 108X

(d) 108%and 135%

Ans: (c)135% and 108X

Feedback: cost of piece 1 is 45 X'3 = ¥ 135, area of piece 2 is
36 X3 =3108

Q.10 A gardener bought 458 apple trees. He wants to plant 15 trees in
each row. How many rows can he plant and how many trees would be left
over?

(a)he can plant 45 rows and 15 trees would be left over

(b) he can plant 15 rows and 45 trees would be left over
(c)he can plant 30 rows and 8 trees would be left over
(d) he can plant 8 rows and 30 trees would be left over

Ans: (c) he can plant 30 rows and 8 trees would be left over

Feedback: because there are 15 trees in one row, so after dividing 458 by
15, you get total 30 rows and 8 trees would be left over.

EVS

Svllabus covered- No Place For Us, A Seed Tells A Farmer'’s Story, Who's
Forest?

COMPETENCY : OBSERVATION & REPORTNG

Q1. replaced bullocks in farming.




a) Car

b) Train
c) Tractor
d) Bus

Ans- c¢) Tractor

Feedback- Tractor is making the farming operations more convenient.
Q2. Which harvesting festival is being celebrated in the given picture? In
which state is it famous?

a) Bihu, Asaam
b) Pongal, Tamilnadu
c) Vaishakhi, Punjab
d) Onam, Kerala

Ans- a) Bihu, Assam
Feeback- Celebrating harvesting festivals is a method of expressing
gratitude to nature for the abundance of new harvests it provides.

Q3. is a variety of grass.

b) Bamboo
c) Coconut
d) Cactus




Ans- b)Bamboo
Feedback- Bamboo is the longest grass.
Q.4 is a tribal nature activist, who said “Learning about the

forest is as important as reading books.”

a) Meneka Gandhi
b) Medha Patkar
c) Suryamani

d) Gaura Devi

Ans- ¢) Suryamani
Feedback- Suryamani is a tribal nature activist.

IDENTIFICATION & CLASSIFICATION
Q5. Identify the picture and tick the correct answer.

b) The people of Khedi village were migrating due to building of hospital.
c) The people of Khedi village were migrating due to building of college.
d) All of these




Ans- a) The people of Khedi village were migrating due to building of
dam.

Feedback- People of khedi village are migrating due to building of
dam.

Q6. Identify the leaves, which are kept with the grains to save them from
insects?

a) Banyan leaves

b) Neem leaves

c) Peepal leaves

d) Mango leaves

Ans- b) Neem leaves

Feedback- Neem leaves are insecticide.

DISCOVERY OF FACTS
Q7. Forest dwellers are called

a) Villagers
b) Farmers
c) Adivasis
d) Hunters

Ans c) Adivasis
Feedback- Adivasis are called forest dwellers.

Q8. Which of the following is prevented by trees?
a) Soil erosion

b) Volcano

c) Earthquake

d) All of these.

Ans a) soil erosion.




Feedback- Plant more trees to save earth.
Q9. “There was peace but no silence.” What does it mean in the lesson No
Place For Us?
a) Gurgle of flowing river.
b) Murmur of trees
c) Chirping of birds.
d) All of these.
Ans- d) All of these.
Feedback- In the forest there are sounds of river, trees and birds
but we can feel peace.

Q10 .What is the relation in between Sidya and Jhimli?
a) Father and daughter

a) Cousins

b) Husband and wife

c) Siblings

Ans- d) siblings.
Feedback- Sidya and Jhimli are real brother and sister.




